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INSTRUCTIONS TO CANDI DATES
Read the following instructions caretully beforo yorei
answer the questions. Answers should be marked in
the OMAR Answer Sheet using biack ball point pen.

1. This baoklet consisls ot 100 questions for four
subjects with 25 questions in each subjeclt.
1-25 Mathemalics

26 =50 Scienca

51-75 Social Science

76 -100 Meital Abillty Test

Eachquestion carries ane mark.

Since the time allotted to the Question Paper is very
limited, you should make the best use of it by not
spending too mixch time on any question.

If you do ne! know the answer to any guestion, do
not spend much time on it and pass on to the nexi
ong. It time permits, try the guestions which you
hava lett in the first instance.

Blank pages are provided for rough work at 1he end of
the Question Bogoklet,

Cheose the carrect answer from the options given for
each question and darken the corresponding circle
with black ball point pen inthe OMB Answer Shee!l.

Handover the OMR Answer Sheat to the Invigilator
and the candidates are allowed to take the Question
Booklet with them.
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MATHEMATICS / aemflzrin

The sum of the digite ap e gy, AT

In
the simplest form ol ~ ke

W i

thy 6 )
Ry 7 “h 1

5 (3 2) -
2+ (3-3)
3
m 3 ) 1

) -1 (4)

|k

Statement (i) :

The cube of every odd number is even
number.

Statement (i) :

If a natural number ends with the digit 3 or
7. its cube ends with the digit 7 or 3

respectvely.

(1) Both the Statemcents are true,

(2) Statemenl (i) is true and (ii) is false.
(3)  Stalement (i} is false and (i} is true,
(4) ' Both the Stalemenls are falsc.

Which of the {ollowinyg; is true ?

(1) 3°+3=3 () 3 'x-=1

o (3)-6)"

(S

() (39)2 _33

IX-23

1!’-!

(myear sttt srntg el poGhren
1) 2
el enn (@ andmmoaat e e (g
(1y N (2 5
7 (b

(n g (2) 1
3 -1 € -
sahm (i) :

@euCeuni @hepliuenL.  era entlen

sennrans ETLen LU 6T e,

Samnmy (ii) :

@ Bl eTamaRTTang 3 Bag) 7-@e
ApubasTa, SiH sarwrars wannGw
7 Djcoengy 3 -@e apigujb.

(1) Gran sannisEHD Fil.

(2) Sy () o wHmbd (i§) saum.

(3)  SapHmy (i) seumy whmb (i) sf.

(1) @re® sammisEDHD Saum.

Wetraw (e enaubmiar ¢t afl ?

(1) 3°+3=3 (2 3 'x % =1
L 5 m__ 3,10

G (%) =3 @ (;) = [5)
PT.O
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5. The pertmerer of the pgiven figure I

100
Aem o)
S
(Y 30 em (< A5 em
(VY U em {4) 50 ¢m

The area of the shaded region of the given
vircle with centre 'O" and radius ‘a” unils is

8. units.
2 2
TTa wa
1 e
W 53 (2) 8
2 2
@ 4 3

7.  Number of edges, faces and vertices in a
triangular pyramid are

respectively,
(1) 6.4, 4 (2) 8,55
(3) 965 (49) 44,6

The arc length of the sector whose area is

8.
154 cm? and its radius 11 cm is
(1) 77 em (2) #em
{3} 28 cmn (4) 32 cm
.24
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QAR L L et sy

__10Qa.8.
o
5 Qa8 .
(1) M fdaab, 2y 35 Qaad
(3 40 Qsab (1) 50 Qs .1h.

‘O - enau oL NDTERD A’ DS %'T(H?'-b

CoramL. Gan@Psslu L Gl g gl

ApdlotulL ugfuern LTUUETay
B, BIOO(5HET.

2 2
m = @ T
ma? ma’,

@ - @ 5

& &Garens Giilige S{EBLDBSIETAT
efleflibysen, gpasiaser whmb 2 &8 saflen
crerassiléons panD Gl }

(1) 644 (2) 8,55

(3) 965 (4) 44,6

11 Qo yraperar an’ Ls&Garemy
ugduiler Lrliveray 154 Qs 152 aafld,
eflcvellenr famip

1) 77 Glelf {(2) 44 Q#.8

(3) 28 Qs.b (4 32 Qa8
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BERE 72

TR o 2= (=40 - T then the value
of pis
1

(2)
(1

m ~ 11

@

The smallest number of the three consecutive

I is (x —2). then the preatest number

18]
m [1'9'3] (2) (x +1)
(3) (x— 1) 1) «x

The straight line y=5x alwavs passes
through _ .

(1 (@3
3 (0.0

(2)
{4)

(5. 0)
(5. 5)

The cube root of 6% Fibonacei number is -
(1) 8 @) 6
3 2 (4) 4

In a triangle ABC, £B=90° then the
Orthocentre of AABC lies on

(y A
(2) B
3y C
(4)  Hypotenuse

n.

11.

12.

13.

14.
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(3 72 4 =72

'l'l" V2B =(x — 41 = 7) greflay po-em
whdy

(h -3
)

2y - 11
4y 1

ABEEBHE tpdrm T FETaTiw fashidly
oT et [1-2) GT"Gﬁ’ﬂé]. Lmﬁ;i-.lgt_lﬁﬂu_; g

L @D
(1) (=+32) (2)

2 tl'Lil}
(3 -1

4

y=>5x erenp CpisGem_rans auGurg
o euflurad dsagn

(1) (0.3 (2)
(3) (0.0 (1)

(5. M

(2. 3)

< mreugy) GuGanrél eraraniien seanppw
(1) 8
@) 2

2) 6

(4) 4

AABC @ ZB=90° erasilév, AABC
QemGam [ ewwid 6@ Sieniowy
A

(2) B
3y C
(4) &rergdlen By

Knidly Send Me Question & Answer Keys to Us: padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

T e — L T T N B

www.Padasalai.Net
5. A APOR v which 2 A =0 il
e L P | (TC TR
{1 L1 (1 e
L) I T} B 4y upe

16, Whah ot

numbwers P

the Tollowing are cospringe

(n
(M

(8. 1) () (8 12)

(8. 15) () (8, 18)

17, If two angles are both congrucnt and

supplementary, then they are

(1) acute angles
(2)  right angles
(3) ‘obtuse angles
(4) all of the above

18.
The least time taken route from A to E is :
(1) A-B->C—E
(2) A->DB—=-D=E
3) A-Bo>C—D—=E
() A—-B—->D->C-SE
IX-24 6
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Ao, AN 6 pMOND £ =57
L - L]

- oy, €01 fh

AAIN -

aleailch, 1L
(2) 7

(4

(hy  nhos

(1)

40"
120° ’

. : G BT L,
15 e G ¢y o ot 40 [T € aren

WM mETT 7
(n
3)

(8, 12)

(8, 18)

{2)
@)

(8, 10)

{8, 15)

B Carammhiaar aﬁsuammrr-ﬂ%i_illm. tlens
Aribfaaraah HoUEIE  Zaa
S—— N

(1) EoeCsrammhaear

(2) ClanGaremrm ser

(3) eRGararmimer

(4)  Gupsflu simenbgd

A-Wemmbs E-&@ G @Gand
Siena Cprgas arhsms Qarar @y
cufl&sL b :

() A=-B—o>C=E
2) A-B-D-oHE

(3) A=-B-oC—o>D-SE
) A-B-D-SC-HE
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1y < (2} 1o
=y 32 4 ol

21, If1s of 3=40 then v is

™
o
)
—_
(]
-_
9
=

_—
L]
=

]
]
.
da
-
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=

22, A peson beught § arbicles for 1,000 and

20ld 222k of them at £ 120, Then his

perceniage is

a°

() 10% (2)

i

o
1ad
el
=
ot
—
e
-t
(¥l ]
2
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farl, (Dh=dizh i),

fa(ml o= ), o)

(@k{ab b=y, torinh (deim)

arop (el (o).

P L S

@ = latele ol S []

— - - -
B [Ealipliey §iu D s
oy oy P =_=
e ek
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21 Avand van b o ahind of aowork i B sy
e can adn :Ih ol the same awork in
days,
(24 (2y 12
(M 14 (by 1n

24, The ramgre of first 10 compesite numbers 18

(1 17 (2 16

(3} o (4 14

25.  Monthly expenditure of Sudaroli's family is
given in a pie=chart. 1l he spends T 12,000

for education, then the total salary of Sudaroli

20%
Educanan
°% 10% Savings
Miscellaneous
(1) < BO.GOO (2) T 75000
(3) T 50,000 (4) T 60,000

X-24
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&y, Ehe'{ TRkl KL 2O TR

1dy g T Greddlds,
veemdlering M ]'hi'll..ﬁ'-lm‘-” e

4]
iy fhg (Tenenenuiett o i 4l enu

Lt

p,rTL',n.i.ﬁh.il (upry IRl
(24 (2) 77
(M) IH oy 16

4

24. (pped 10 WCA T £517 & arfl car & m
(1) 17 (2y 16
(3 9 (4) 14

25. s Gorafluen Lnrrg.éi.@@wglﬁ Qa-q,m
Gulil. eferd &L ul_,sg_ﬂm ALLINT P
et sLASEATE T 12000

L (pefrengl. _ :
QG ey Qe rmren, <1 6u e Qmwgﬁ
G (I LD T & LD
50%
oG ey
20% 15%

seball GLTL &8N

5% @&n 10% GaufiLiy

ALLTE Ty
(1) T 80,000 (2) T 75000
(3) T 50,000 (4) R 80,000
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ap. Which o the m””w“;ﬂh‘mlmmhnm“H"“"" 26, Aypamidn ClanGudlenamaila v.,n'.um'_‘_'b"j"-"ﬁ
that you have feves mrusaAad) poéeang erarueng Afwans

@Bl eugy arg 7
(y e (2} 1oo°F (1} 100°C  (2) 100°F

(100K (4} All the above M 0K (1) Eeveu enemg LD

a7, \Which of the following liquids has more | 27. Lpsorgpn fraiisasda ag 2EHs

viscosity T urgflena) o enLwig ?
(1) Grease (1} Afew
(2) \Water 2) pi
(3) Coconut oil (3] Caiusmis erearElamis
(4) Ghee (1) Gpd
28. Kaleidoscope works on the principle of | 28, sera_ravGesm I L

Sigliuelfd QruduGdins.

(1) Regular reflection (1) guomaTar erdleyrafluy
{2) Imegular reflecbon (2 Gupiusbo eTd@rnafiiy
{3) Refraction of light (3 @qﬂ eflensch

(1) Muldple reflection of light (4) @Gﬁﬁuﬂlﬁh L&D (Lp& G‘I‘ﬂ@unmﬂﬁlu

29. Energy required o raise the temperature of | 29, §flen Qadufiewew 1 K 2wigs

water in a trough 1o 1 K is 1000 JK 1. 1000 K- Gaudiub SgepatiuBADE).
Calculate the amount of energy required o g Qauudawew 10K cwrgs
raise ils temperature by 10 K : Caencuwiren Seulint Do :
1y 100] (23 10] (1) 100 ) (3) 10
(31 1K (4) 10K (3) 1K (@) 10K

1X-24 9 PT.O.
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T 'l\‘}"_h ‘ .n 11‘~|.r-|: AN e bwoaryibe piw] v fth BT ISY Alpivagy b ot ﬂ‘.uim 1 o
L¥ygy e '
Wil h""i‘mﬁ : AL | tre-arvp v b foafrhar o el e gy r:” . iy "r“
! ]
I U E LT T q: ‘l '
Gl e e S (24711 3 r5
m o, f 2 iy
el ‘-?'}i
() (1) eflenmarent_n i
- Altrmgy
{21 s
M o -
L 1] .
M Attt sl rometimes ropwl (V) A olImycsmofa) g
" ™.
Grrmimeiias eflas o
W) vty altrac e PR
TN | nae l".llu'-l ‘nl] I"rlf.‘i,sp ‘ﬁ]
3 &L I'1', ﬂ_j&mm
Q!u’hurr@ "“4":1
L]
n, A
Ll\‘rund hi‘ll A f
. fequency of 10|, :
Wavelenpih of = ’ 2and a | 31, it el 10 Qamirt_ g .
oung ?}. OTT Mo What is the speed of the ftﬂﬁ;mmg?t&? HE 3 v gy "
(1) 700 me-1 palulan Causib eremer o 4 2
.
(I) 700 =1
@ 70 ms~1 ™
N (2) 70ms—1?
3) Dx1n-2 m<—1
(3) 70x10-2 -1
{‘I} 7["]}{10': ms—l o
(1) 700x10-2 pe—t
32, When
Bold iy gyg i
e Pended in an ext i .,
n\-ﬂgn[‘u[' f“_:.ld‘ it wrill - ernal 3z, 'Ell'ﬁ.lf 5_@)6&35 gu'n-m i .
@ a QST & ebl@ib Cunsy - Buaggg
BN Perpendicular to the direction of
the field M yasfar Havss ;
@ B R
ali
‘&0 parallel to the direction of the fielq (2) .
&0 - -
MOS8 Beansse By,
(3) doesn ,@]D@m
S Mot respond 1o the figl) (3)
: Lgu 3 lrS-U - .
(4) gels magnetized in the direction of th e urrﬂa;‘*“'—"—-ﬂ’g.l
field o 4) srpgL i &)
BHY w5 g an Henzrda
IX-24 bsne
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" e abery oo baeiie Yibin & Vnsibrayaney  § seas
b s bore Al frske o the Sow
i Naath 17 Stk
(W bae () Wi
“ Lol the s s LT
Compeunds Constltyent
1lements
{(n Water 1 "l'ilh‘b“l.‘“_ L ‘11-“.1"
{1 Matrk mond - ‘I'l"ilr'l"“l.‘!l, N"l'l-'!j.‘.'l‘l'l_.
Ohypen
(v Salphuric - Hydrogen, Chilorine,
acd Oxypen
(1)  Acetic acid - Carbon, lHydragen,
{(Vinegar) Oxyvpen
35. Which one ol the following contains a high
level of polyunsaturated fatty acid ?
{1) Fishes and meat
{(2) Eppamd milk
(3} Vegetables and [ruils
{4) Cereals and pulses
IX-24
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i il d-a i S rliem,

iV) ‘fuu& - i

Clug el oomy

PRIMTEP () ctaans ori jd Lol ) o Aig dam

Cwiinih B A B [T AT
w.aren il inchimen
Il’ ﬂ'ﬁ' T A e
-larl,‘!r‘iqlﬂ
12) enpi_fa anguny T O
=B i 2 0 YO T
o -
(MY apgs -saflanb - angun e,
e M,
{1) Sl igA - &I LT,
sl @1 ORI e,
(afafl o) <y, A g

dlenaigheueienpme uwuig Haneamr
Qargping sullab sapblia =dawn
arcst DA gy ?

(1} Senacr ponb Penmad

{2} qQplenc whrn wirdh

(3} ambaflser oppn uprusar

{4} praflumsd hobd umlogsdr
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S LT RN LR e

(‘ll!“;'ll'll' the Iqll_ln\p‘”“,- "‘l“i‘“!'n :

[ Yo v 6 LO _ Drerey froin G sun
i "'—H‘—-———-r

+ 6f X
M CLH..O,, () <, H,.0,
(3 C.H 01 4

CII,"D‘ CJ]!

An atom has 7 elactrons in ils outermost arbal.

For obtaining, stable electronic confipuration,
it has to

(1 fain one electron

{2)  lose one vlectron

(3} neither fose nor gain electron
(1) None of the above

Usha had heavy dinner and she falt
uncemfortable. So her grandpa advised her
te drink a small amount of Oma water, 1§
she drinks Oma water what will happen 7

n
(2)
5
(4)

Digestion will be faster.
Digestion will slow down.
Irritation will be there in stomach.

Nothing, will happen.

Which af the follewing chemical can be
applicd for wasp bite ?

{1} sodium lwvdroxade
(2)  soudium acetate

(3 vinegar

{4)  potassium hydroxide

12

b,

7.

38.

39,

& .
Aipa FupeEt ML - PP Usiis,
\Epm&E!TL-

-y, + 6HLCY i
wCO), + Bl e B EEE
s A AP
pethealnt

- Coliz
(el

(1] CyabinaOyy N0

(% CoHLOH W i “H

it cgaun angy pan @aieNUHDS Sk

e TTerta, .
T cTeud LT MR AEnITH Qﬁﬁvm[;gmufgqﬂ@
Blenais eTaubl grat Lo L :
(1)
2)

(3)

s cTdLguend g HEL L

n erevdlgrana B S0 .

& EHRL_ T remett @géﬁmm Qsdiwing,
erhaan Wauwmh

4]  Cupsmflu ggplldad

oo eremuault Znay ﬂﬁ]gﬁsﬁlq—lﬁlé‘r@lung:;
gl swren G"@;E»g..lf.
Qo m e g men oyEameurnns 2 amik
i e mrmn ooy HPBTa) o
fenr Lmpss @emenenmi. Seul @ulemg
Lokfenrer ordrar Elsppd 7

(1)
(2)
3
)

e eT erreu

Qefwrann gfstiu@Esau®n
Gesflwrann: grogluBasUuBih
Benruenuula srfiasd aHu@w
et Blawrs

Genefl Glam g arred Qlepa:-ﬂﬁ'!l_ ThE
GauBuQdurmenen Lweru@EHACDID 7

(1) Csmguid ehangTéens(H
{2y Grmgund =8l Gl

(1) e<Aafar

4)

Qum’ oo Qg FrEens
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(i Sk brimmynous @) B& - TR carbem ™)
o BT (=) 35 - B5% carbon fe)
(& Amthracr () 353 - 4% carken i)
(1) e (TR L (diHm)
(T ezl bk () (dfm)y
i asi (TR O (dm)
(3 Ayt (TemL CRE) [
gr Do szeore roed winch bas the highent snecyy | 41.
Fmd does oot polla™ &7 s
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a6, Bactena are groupal wnder the Kingdom of L LD

(1Y Moner (2} Trotista
(3 Fungm {4y Adpga
47,  Assertion : 17,

Vaccines are prepared from the dead or

weakened microbes.

Heason :
When the vaccine is injested into the body of

a paticnt, the pody produces antibiotics.

(1) Assertion 15 correct but Reason s
WOng.

(2)  Assertion and Keason are wrong,

(3) Assertion is correct and Reason
explains Assertion,

(4) Assertion is wrong but Reason is

correct,
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(21 Ishwara Chandra

Widow Remarriage Act

Vidva G par -

(B LED. Bethune - The Shanda Act

(4}  Rajputs - [auhar

The Indipo Revelt was led by whom ?

(1) Mahatma Gandhi
(2)  Keshab Chandra Roy

(3}  Digambar Biswas and Bishnu Biswas

() Sardar Vallabhbhai Patel

55.  Which among the following statements about
"Agnu_-u":a Turban” are true ?
(i} [t was introduced by Military General
Apnow in June 1B0Y,
(ii} 1t resembles a European hat with a
badye of cross on it
(it} Both Hindu and Muslim soldiers
acvepted it.
{iv) This was considered as the immediate
cause {or the Vellore revolt.
(1) (i) and (i) only
(2)  {it) and (i) only
(2} i) and (iv) only
(4) (i) (i) and (iv) only
1X-24
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SMTERTON S DA b E.
(1) (i) wopb (i) we(pw
(2) (i) whmb (i} o Go
(3 () LHpw (v} WG
(4) (i) (i) D@D (iv) o GID
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(1 Uorvrn lirymatnoony
| [ ™1 m gt
i Faapsration
(4 !'l"|1|“rl_1'£r v

=0 The Priwyse 10y which the woater combetd ary
the plant = releasad inbos the atmospherr in
the torm of  water vapour e ooalled
(1 Evaporation
(=)  Condensation
(*) Transpiration
(4) Preapitanon
61. Statement (i) :
Se-dimentary rocks consists of many layers.
Statement (ii) :
Sedimentary rocks are formed by the
sediments deposited at different points of
time,
(1) Statemenls (i) and (ii) are correct and
Statement (ii) explains Statement (i).
(2) Statements (i} and (i) are correct but,
Statement (ii) does not explain
Statement (i).
{3} Statemenl (i) is correct but,
Statement (ii) is incorrect
(4) Statement (ii) is correct but,
Stalement (i) is incorrect.
IX-24
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LR LR FRTT RS S II\ﬂ

h“llh'l.“ S by

W Non
thﬂmnp'h‘nill
factor

IV Telecasts (1) Raw materials
Crsrpraphical () Quaternary
Fan tog rl"l’i'\.‘l!y
Capatal (v Quinary
achivity
(D @) (W0, )i, (d)-iv)
(2)  (a)-(in), (L)-{iii), tepivy, (d)-(i)
() taliv). (b)-(is). (0)-Gii), (-
MY (@-0v) (b)), (c)-(ii}. (d)-(i)

63. Which Continent is known as “Continent of
Scienes” ?
{1} Narth America
{2)  Antarctica
(3)  Curope
{4) Australia
€4. Fromthe following find out the incorrect prair :
(1}  Isotherm - Equal temperature
{2)  [sohel - Equal atmospheric
pressure
(3)  lsohyets - Equal amount of
rainfall
(4) Isocryme - Equal lowest mean
temperature for a
specified period
IX-24
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(1) (a)-(i). (B)-(id). (c)-{aid). (A)-fiv)
(2)  faytii), (b)-(iii), {€)-(1v). (d)-(i)
(3} (a)-(iv). (by-(ii), (c)-{ii1). (d)(i)
(4} (a)-fiv). (b)-(iii), (e}{m). (d)-(i)
63, ooflafl wao &Fedr D" g
SenphsUUPn ST erg) ?
(1) eu Gwfssr .
{2) =qEETI_ Mg &M
(3) gGorlun
4} e HGralur
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St fls.
Garn
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l” Cadastral maps

(21 Topographical maps

(3)  Isoline maps

(4) Transport maps

Match the following ;

Chemical wastes (i)

Flarmmmable wastes (i)

Household {iii)

hazardous wastes

Explosives (iv)

Organic
Solvents

Wastes resultng
from ordnance
mﬂnufacl:uri_ng

Salts

Automobile
batteries

(1) (a)-=(iii). (b)-(8), (c)-(iv). (d)-(ii)
(@) ()i, ()-(iik), ()-(ii). (d)-(iv)
(3} (a)ii). (b)-(i). (c)-(iv). {d)-{isi)
(4)  (a)-Liv). (b}{ii). (c)iii). (d)-(i)

Service oriented sector is
(1) Private Sector

{2) Joint Sector

(3)  Public Sector

(1) Co-operative Sector

(1)
(2)
()
(4

(1)
(2)
(3}
(4}

(1)
(2)
(3)
(1)
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66. GQummisnes

(a) @rsrwens (i) &flwo
siflaaar ESTULITE ST

by erallflds (if) U _&sedn
Fuubmasagu e.husd sl
sifla ot

(©) @Eusri Surwsy (i) o s
ayfiaser

(d) QeugtiQungpl &dr (iv) eursar

Wens ki sdr

(a)-(iii), (b)), ()-(iv). (d)-(ii)
(a)-(i), (b)-{iii). ()-(ii). (d)-(iv)
(@), ()-43), ()-(iv), (A)-(iii)
(a)-(iv). (b)-(ii), ¢c)-(iii), (d)-{i)

67. Greneu Cpr&std e enlw geam -

pefluri geom
&a(hd Zem
Qurgg geom
s Bpas o
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N,

h9,

Z0.

71.

I1X-24

ek thie odad ome o

Recent forms al money tanuinctions are

(1 Credit canrd

(2)  Harter svstem
(V) Detat cand

(1) Online banking,

Statement {i) ;

Savings are made to fulfill shorl Aterm of

urpent O Uire e is.

Statement (ii) @

Liquidity is high in fovestments.

(1)  Statements (i} and [if) are true
(2)  Statement (i) is true bul (i) s false
{(3)  Statement (i) is false bot (i) 15 rue
(4) Statements (i) and [ii) are false

An example for the joint sector compaiices
T

(1) Irrigation projects in Jndig

{2) The Reserve Bank of India

(3)  Adr Inddia

(1} [Indian Synthetic Rubber Limited

Who promoted mixed economic system ?

(1) Mahatma Gandhi
{2) Rajendra Prasad
(M) Dr. Radhakrishnan
{1} Jawaharlal Nehro
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(V) i @Al
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(0 The Chuld Talswur At 19Hn
(4 The Tuvemibe Tustice Adt 2060

Mok the o] one et

(n ; -‘ Give way,

(21 @ No entry,

(3) A Right hairpin bend.

(4) Speed Limit,

Which force is guarding sensitive
governmental buildings, the Delhi Metro and
Atrport ?

(1) Central Reserve Police Force (CRPF)
(2)  Cenlral Industrial Security Force (CISF)
{3) Special Service Burvau (S5B)
(4) Special Frontier Force (SFF)

The Chief Justice of High Court is appointed
by

{1}  The Chiel NMinister
2)  The Prime Minister
(3) The Governor
(4) The President

7

74,

23
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(]|
(4

Mpneng amplainsrt mioan 1A
Mmai f4a a6 2000

uinemibang, spcncnms, Garmias s

() v anfl &y

(2) —@ Cacier ognndl Gidiena)
(M _E cuagy Damerren,. ekl cuanaray
H @ Coussd &_MHUum_ i) uaray

TS LTEETULI UL opsdlu Sipsnhs
S L L&, Dueedl Qwl Grm whmb
e Hlenanwgens uTgHsTsEALE ?

(1) wiHHw Nereu sreud wane (CRPF)

(2) wsEHw Gamflas urHETOLL UL
{CIST)

(1) Houy Gseneu uestlusbd (SSB)

4)  &puy eravenaliyp uane (SFF)

cwuir fHwap gemweow fdudenw
Buwnnend Qe

(1) ppgemwssn

() Qrgw wHHM

(3)  <REBET

(4) GRWIss FMeT

P.TL
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Direction (Q. No. 76, 77)

F'i.l'h]. the nest numtver in e tollowing, ST

76, 5,9,16,31.60, _7_
(1y 119 (2) 118
(31 132 4 13
77. 217,82,257, T
{1} 575 (2) 325
) 626 4y 730

Direction (Q. No. 78, 74)

Find the missing number/term in the following,.

78, & | 40
65 | 4
BO | ?
(T 8 (2) 9
(3) 10 ) 7

79. EXL, GVN, ITP. KRR, _?

(1) MTT (2) MrT

{(3) NPT (4) NST

IX-24

www.TrbTnpsc.com

arglgpenm - (efd. ereir. 76. 77)

WGl e 6w AHLD G]ﬁrrl_r'l&ﬁ'ﬂd-i AR E

et onenmd, mearL [l

6. 5,9 16, 31, 60, I

1y 119 (2y 118
3 132 () 131
77. 2,17,82,257, .1
(1) 575 (2) 325
(3} 626 (1) 730

e figpenm : (e, coraimr. 78, 79)

SARule err/eTpsengs st g

78, 6 | 401 2
g | 65 | 4
7 | 80 ?

1y 8 2 °

(3) 10 4 7

79.  EXL, GVM. ITP, KRR, _?

(1) M™MTT (2) MPT

(3) NPT

(4) NST
24
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g0, 9 L 14019, 6, 3s, 50

(3 11 () 9

51, N W. U RN]JC
(1) R (2) N

(3 ) (0 C

g2. If the time in a clock is 2.05 p.m., then after
20 hours 535 minutes, the hour hand of the
2 : )
clock points towards which number ?

i i ai and
g3. Ildentify the rolationship of the gIven pair

{ind the missing ong

. r
C54R:E8331253”*'-*”

(2 199K
172K

(1)

(3y 1801 (4) J120M

25

www.TrbTnpsc.com

&0, 9, 11, 14, 19, 26, 34, 50
(1Y N {2y 36

@ 11 (4) 9

81, X, W, UL RN LC
(1l K 2y N

3 ! 4 <

Al i GGursy 205 pm

srgsfia GEIW o e
EZ. :Zﬂ@ {in el 55 FlL & ﬂj'@iﬁﬁ
.s;mrasrrlr,&)@é-? ﬁ@._u Qpa'r RS ET 8T ST

&_(HwWD ?
m N 2 8
3 12 H 10

; 5 &) 5 (@HF
, Quan@ oram [ GBI
> gﬁif@ﬁmmm Glg.m_fnﬂimm &GE-ITL_@F?%
eflH UL s | TpEehs & et
ﬂqé&&mﬂ:‘n.
CHR: F85Q: - GBAL : 2

a1 @. 199K

s J120M
@ 180 @

Pl
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e run in LITEEY I What s the caonde faor

“shindy T in that h\nn“ﬂ“.. ]

(1 & (y 2

M 2 (4

BS.  In a cortain code, CAN =36 and NED =22,
then CUT= 2

& — .

(2) RS
(2 66 {4) 22

B65. A is rother of B and Cis sister of D and B is

son of C. How is C related o A T

(1) Father

{2 Mother

(3) Nephew

{4y Niece

§7.  If + means —, — means x, X means + and

+ means +. then IBx2+73+4-06=

(19 2y 20
(3 22 (1) 24

a5,

B6.

B7.

www.TrbTnpsc.com

Eradtiaena, “run looschool” erertialh (BT Iy,
WU wranhpeng Tdeorunian s hiwl ™ &7 &y,

g ard, “study” cronumen afludg,

(n n (2) 2

3 ) 1

ey pedw @Hlic® q.r.nmmuﬂd‘: Ci“':\’uy’
sremep BED =22 stemapn mBldsTe CUy

erémugen @hiui0

(1) 44 () 88
3) 66 (4) 22

A sremucuir B-dr sCErsTE LWODDG
c aénueud D -én sGargfl woHp
B erantuaifr C -7 Sar crafléy, C ereémy
ault A-g erean 2pey ?

(1)  <Sum

(2) tbwm

(3) &Cangren/sCangflulen waer

(4) sCorgyen/sCargfiuian waer

+ GremUEnE — GTEFaD. — cTeueng X
Graald, X Greueng + CTemayih whm
+ grénueng + crenaylh GaremLTd
1Bx2+7+4-5= .

(1y 19 . (@ 20

(3) 22 (4} 24
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idmayaymm
(1) et Ripht, Righy

My @ s sy arerd
(v Bapht Riphe, Tty (21 ey sy, G
(M Ll Lain, 1ol

M o Bess s
(4 Raght, 111, Right

(4) s Zium, el

§9. Armange the (ollowing

waords ina meaningful | 59,
R PR LS L A

Gemaumib alfgenssana Qurmardips
alflasiuBsss

A Vegetable A, Vepetable
B. Cooking

Cooking,

Market .  Market

Eating D. Eating
E. Cutting Cutting
(1) CAEDB (2) <CAEBD (1) CATLDB (2) CAEBD
(3) ACBDE (4) BCDEA (3) ACBDE (4) BCDEA

30. Arrange Lthe fellowing words as per | 90.

Garaummb rifagsoa Spidle

dictionary. Sarnd) auflensulie auflensiupsas.
A, Fluwe A.  Flute

B. Fetch B. Fetch

C Fresh C. Fresh

D. Force D. Foree

E. Flask E. Flask

{1y CEABD (2) ABCDE (1) CEABD (2) ABCDE
(3) BEADC (4) EDCBA (3) BEADC (4} EDCBA

1X-24 27 PT.
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4 VT e () granar
4 Dray aftet Bovrmoryos (1) paeEgr poymre
i4) Doy befowry vesmterfay (4} L:-:‘Ta".-:"-“ L};.#!JG‘I‘.%E
w2 Fend the vt mirns tmage of 92. ESTRGE6KI] 1
LSTHREK] | cEuaat asrarTe b
B £X8RATE23 () grouwlLsc3 (1) egHaAT23 () ENOMIGy
() E2LHeK3 (3} E£MBRT23 (3) ER1iex3 () EXNDRT2;
Direction (Q. No. 93, 94) afigpenp - (6Bl eram. 93 H)
Fund the odd ome ot - Ga.s‘guf_l_ QGFE?I!HE 55:’"—5&5
" xlo||—|x1[1!l]i—]o X|Oo|[—|X Pl |—]o]
il —lol ol x][—]x 23. tlll—lollo]|x]]|=]x
(1) (2) (3) (4) (1) @ 3} (¥
. [ [ ‘5/ \{” 94. )i | é/‘ \{“
(1) (2) (3) (4) (1) (2) ¥ (4}
95. Which of the following words cannot be ge &Qmm@mﬂlmﬁjyd‘l STH& 6T & ch &
formed from the letters of the word "INTERNATIONAL” :?:mm jﬂﬁzﬁ‘ﬂ:
INTERNATIONAL” 2 uQ gy evar TS &) & ETS Gla,rrlu‘.ﬁT@
2 (HEUTESE (P IImgy ?
(1) NATION (2) LATTE (1) NATION (2) LATTE
(3) NATURE (4) INTERNAL (3) NATURE (4) INTERNAL
i
IX-24 28
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R ¢ DIE]
R T S
}

1Y Aand B () Cand D

1 CandE Y Yandn

Threction (Q. No. 97, 95)

‘F-f‘;i"{! :h'-‘ fﬁ‘!ﬂtl‘d flgurt‘ frlﬂm th > Ei-vun
alrernmabives

www.TrbTnpsc.com

(R mapadk e e Flrdnfipem eienpu e /

el

(1 (2)

A wdmonnb B ¢ wmpre 1

(M Cuwppnd E (4}  Faunmmen E

anfigperp - (efl. erar. 97, 98)

QanHé& &0 UL (BT GprmuSne
QgrofueLw uLses Carey ARTT S

r ) . ]
Q. ‘|f,: i: A | I 97. AN E
X <
NUIES X SimiEe
(N (2 (3 (4) nm 2) 3 )
O x + D ~ +
98 FaSN H I e B P R Y 98. Al O | - = ?
R A O X A o)
+ N O O + - C O
O () - + ) O - -+
— + + — — + + -
m (2) (3 (4) (1) (2 ) (1)
1X-24 29 P.T.O.
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Jf

ol

(1, = ) w

3 11 (35 13

100, I S5 =30 543 = 143 thuen He5 =7

~o)o-

100.

www.TrbTnpsc.com

WA R qV.’:

-;aﬂsrqrm5€ﬂr

(y 7 2y 9
(3) 11 {4) 132

Sei=400 b 4231 = 144 T&Ele He5as

(1) 121 (2) 1331
(3) %00 (4) 3625
~-oDo-
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